

Created by T. Madas

PARTIAL DIFFERENTIAL EQUATIONS

(by integral transformations)

Created by T. Madas

Question 1

The function $\varphi = \varphi(x, y)$ satisfies Laplace's equation in Cartesian coordinates

$$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0.$$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation for $\hat{\varphi}(k, y)$, where $\hat{\varphi}(k, y)$ is the Fourier transform of $\varphi(x, y)$ with respect to x .

$$\boxed{}, \quad \frac{d^2 \hat{\varphi}}{dy^2} - k^2 \hat{\varphi} = 0$$

• FINDING THE FOURIER TRANSFORM OF THE P.D.E., I.E. MULTIPLY BY $\frac{1}{\sqrt{2\pi}} e^{-ikx}$ AND INTEGRATE FROM $-\infty$ TO ∞ , WITH RESPECT TO x .

$$\Rightarrow \frac{\partial^2 \hat{\varphi}}{\partial x^2} + \frac{\partial^2 \hat{\varphi}}{\partial y^2} = 0$$

$$\Rightarrow \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \frac{\partial^2 \varphi}{\partial x^2} e^{-ikx} dx + \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \frac{\partial^2 \varphi}{\partial y^2} e^{-ikx} dx = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \frac{\partial^2 \varphi}{\partial y^2} e^{-ikx} dx$$

$$\Rightarrow \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \frac{\partial^2 \varphi}{\partial x^2} e^{-ikx} dx + \frac{\partial^2}{\partial y^2} \left[\frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \varphi e^{-ikx} dx \right] = 0$$

• NOW THE FOURIER TRANSFORM OF INDEPENDENT y

$$\mathcal{F}[\frac{\partial^2 \varphi}{\partial x^2}] = ik^2 \mathcal{F}[\varphi] = ik^2 \hat{\varphi}$$

$$\mathcal{F}[\frac{\partial^2 \varphi}{\partial y^2}] = (ik)^2 \mathcal{F}[\varphi] = -k^2 \hat{\varphi}$$

• THEREFORE WE HAVE

$$\Rightarrow -k^2 \hat{\varphi}(k, y) + \frac{\partial^2}{\partial y^2} [\hat{\varphi}(k, y)] = 0$$

• AS k IS A CONSTANT AS FAR AS y IS CONCERNED, THE RESULTS TO A SIMPLE O.D.E.

$$\frac{d^2 \hat{\varphi}}{dy^2} - k^2 \hat{\varphi} = 0 \quad \text{for } \hat{\varphi} = \hat{\varphi}(k, y)$$

Question 2

The function $\varphi = \varphi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0,$$

in the part of the x - y plane for which $y \geq 0$.

It is further given that

- $\varphi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$
- $\varphi(x, 0) = \begin{cases} \frac{1}{2} & |x| < 1 \\ 0 & |x| > 1 \end{cases}$

Use Fourier transforms to show that

$$\varphi(x, y) = \frac{1}{\pi} \int_0^\infty \frac{1}{k} e^{-ky} \sin k \cos kx \, dk,$$

and hence deduce the value of $\varphi(\pm 1, 0)$.

$$\boxed{}, \quad \boxed{\varphi(\pm 1, 0) = \frac{1}{4}}$$

PROBLEM $\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0$ subject to $y \geq 0$
 $\varphi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$
 $\varphi(x, 0) = \begin{cases} \frac{1}{2} & |x| < 1 \\ 0 & |x| > 1 \end{cases}$

SOLVE BY TAKING THE FOURIER TRANSFORM OF THE PDE IN x

$\Rightarrow \mathcal{F}\left[\frac{\partial^2 \varphi}{\partial x^2}\right] + \mathcal{F}\left[\frac{\partial^2 \varphi}{\partial y^2}\right] = \mathcal{F}[0]$
 $\Rightarrow (ik)^2 \hat{\varphi}(k, y) + \frac{\partial^2 \hat{\varphi}(k, y)}{\partial y^2} = 0$
 $\Rightarrow \frac{\partial^2 \hat{\varphi}}{\partial y^2} - k^2 \hat{\varphi} = 0$
 $\Rightarrow \hat{\varphi}(k, y) = A(k) e^{-ky} + B(k) e^{ky}$
 $\text{As } \sqrt{x^2 + y^2} \rightarrow \infty, \varphi(x, y) \rightarrow 0 \Rightarrow \text{As } \sqrt{x^2 + y^2} \rightarrow \infty, \hat{\varphi}(k, y) \rightarrow 0$
 $\Rightarrow B(k) = 0$
 $\Rightarrow \hat{\varphi}(k, y) = A(k) e^{-ky}$

NEXT WE TAKE THE FOURIER TRANSFORM OF $\varphi(x, 0) = g(x)$

$\Rightarrow \hat{\varphi}(k, 0) = \hat{g}(k) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} g(x) e^{-ikx} dx = \frac{1}{\sqrt{2\pi}} \int_{-1}^1 \frac{1}{2} e^{-ikx} dx$
 $= \frac{1}{2\sqrt{2\pi}} \left[\frac{1}{-ik} e^{-ikx} - \frac{1}{ik} e^{ikx} \right]_{-1}^1$
 $= \frac{1}{2\sqrt{2\pi}} \left[\frac{1}{-ik} (e^{-ik} - e^{ik}) - \frac{1}{ik} (e^{ik} - e^{-ik}) \right]$
 $= \frac{1}{\sqrt{2\pi}} \frac{\sin k}{k}$
 $\Rightarrow \hat{\varphi}(k, 0) = A(k) = \frac{1}{\sqrt{2\pi}} \frac{\sin k}{k}$

WORKING: $\hat{\varphi}(k, y)$ DIRECTLY FROM THE DEFINITION

$\Rightarrow \hat{\varphi}(k, y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \varphi(x, y) e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \left[\frac{1}{2} e^{-ky} \sin k \cos kx \right] e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} 2 \times \left(\frac{\sin k}{2} \cos kx \right) e^{-iky} e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$ // at $x=0$

FOURIER TRANSFORM $\hat{\varphi}(k, y)$

$\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$

PROCEED BY SUBSTITUTION

$\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$
 $\Rightarrow \hat{\varphi}(k, y) = \frac{1}{2\sqrt{2\pi}} \int_{-\infty}^{\infty} \sin k \cos kx e^{-iky} e^{-ikx} dx$

Question 3

The function $\psi = \psi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \psi}{\partial x^2} + \frac{\partial^2 \psi}{\partial y^2} = 0,$$

in the part of the x - y plane for which $y \geq 0$.

It is further given that

- $\psi(x, 0) = \delta(x)$
- $\psi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$\psi(x, y) = \frac{1}{\pi} \left(\frac{y}{x^2 + y^2} \right).$$

, proof

SOURCE (LAPLACE'S EQUATION)

$$\frac{\partial^2 \psi}{\partial x^2} + \frac{\partial^2 \psi}{\partial y^2} = 0$$

- $\psi(x, 0) = \delta(x)$
- $\psi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$

TAKING FOURIER TRANSFORM OF THE P.D.E. IN x

$$\rightarrow \mathcal{F}\left[\frac{\partial^2 \psi}{\partial x^2}\right] + \mathcal{F}\left[\frac{\partial^2 \psi}{\partial y^2}\right] = \mathcal{F}[0]$$

$$\rightarrow (ik)^2 \hat{\psi}(k, y) + \frac{\partial^2}{\partial y^2} [\hat{\psi}(k, y)] = 0$$

$$\Rightarrow \frac{\partial^2}{\partial y^2} \hat{\psi} - k^2 \hat{\psi} = 0, \quad \hat{\psi} = \hat{\psi}(k, y)$$

SOLVING THE O.D.E. AS k IS A CONSTANT

$$\Rightarrow \hat{\psi}(k, y) = A(k) e^{-ky} + B(k) e^{ky}$$

AS $\psi(x, y)$ VANISHES AS "LARGE" DISTANCES, SO WOULD $\hat{\psi}(k, y)$ SO THE BOUNDARY THAT $B(k) = 0$

$$\rightarrow \hat{\psi}(k, y) = A(k) e^{-ky}$$

NEXT WE TAKE THE FOURIER TRANSFORM OF THE CONDITION $\psi(x, 0) = \delta(x)$

$$\hat{\psi}(k, 0) = \delta(k) \rightarrow \hat{\psi}(k, 0) = \mathcal{F}[\delta(x)] = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \delta(x) e^{-ikx} dx = \frac{1}{\sqrt{2\pi}} \times 1 = \frac{1}{\sqrt{2\pi}}$$

HENCE

$$\frac{1}{\sqrt{2\pi}} = \frac{A(k) e^{-k \cdot 0}}{\sqrt{2\pi}} = A(k) e^0$$

$$\boxed{A(k) = \frac{1}{\sqrt{2\pi}}}$$

$$\Rightarrow \hat{\psi}(k, y) = \frac{1}{\sqrt{2\pi}} e^{-ky}$$

INVERTING THE TRANSFORM ABOUT

$$\rightarrow \psi(x, y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \left(\frac{1}{\sqrt{2\pi}} e^{-ky} \right) e^{ikx} dk$$

$$\rightarrow \psi(x, y) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-ky} e^{ikx} dk$$

$$\rightarrow \psi(x, y) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-ky} (\cos(kx) + i \sin(kx)) dk$$

NOTICING THE ODD PART TAKE FROM $k=0$ TO $k=\infty$

$$\Rightarrow \psi(x, y) = \frac{1}{\pi} \int_0^{\infty} e^{-ky} \cos(kx) dk$$

$$\rightarrow \psi(x, y) = \frac{1}{\pi} \operatorname{Re} \left[\int_0^{\infty} e^{-ky} e^{ikx} dk \right]$$

$$\rightarrow \psi(x, y) = \frac{1}{\pi} \operatorname{Re} \left[\int_0^{\infty} e^{k(-y+ix)} dk \right]$$

$$\rightarrow \psi(x, y) = \frac{1}{\pi} \operatorname{Re} \left[\frac{-y+ix}{-y+ix} \left[e^{k(-y+ix)} \right]_0^{\infty} \right]$$

$$\Rightarrow \psi(x, y) = \frac{1}{\pi} \operatorname{Re} \left[\frac{-y+ix}{-y+ix} \times 0 - 1 \right]$$

$$\Rightarrow \psi(x, y) = \frac{1}{\pi} \operatorname{Re} \left[\frac{-y+ix}{-y+ix} \right]$$

$$\Rightarrow \psi(x, y) = \frac{1}{\pi} \left(\frac{y}{x^2 + y^2} \right)$$

Question 4

The function $u = u(x, t)$ satisfies the partial differential equation

$$\frac{\partial u}{\partial t} + \frac{1}{3} \frac{\partial^3 u}{\partial x^3} = 0.$$

It is further given that

- $u(x, 0) = \delta(x)$
- $u(x, t) \rightarrow 0$ as $|x| \rightarrow \infty$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$u(x, t) = \frac{1}{t^{1/3}} \text{Ai}\left(\frac{x}{t^{1/3}}\right),$$

where the $\text{Ai}(x)$ is the Airy function, defined as

$$\text{Ai}(x) = \frac{1}{\pi} \int_0^\infty \cos\left[\frac{1}{3}k^3 + kx\right] dk.$$

proof

$\frac{\partial u}{\partial t} + \frac{1}{3} \frac{\partial^3 u}{\partial x^3} = 0$ subject to $u(x, 0) = \delta(x)$
 $u(x, t) \rightarrow 0$ as $|x| \rightarrow \infty$

• TAKE THE FOURIER TRANSFORM IN x

$$\Rightarrow \mathcal{F}\left[\frac{\partial u}{\partial t}\right] + \mathcal{F}\left[\frac{1}{3} \frac{\partial^3 u}{\partial x^3}\right] = \mathcal{F}[0]$$

$$\Rightarrow \frac{\partial}{\partial t} \hat{u}(k, t) + \frac{1}{3} (ik)^3 \hat{u}(k, t) = 0$$

$$\Rightarrow \frac{\partial \hat{u}}{\partial t} - \frac{1}{3} ik^3 \hat{u} = 0, \text{ where } \hat{u} = \hat{u}(k, t)$$

• INTEGRATING BY SEPARATION OF VARIABLES

$$\Rightarrow \frac{1}{\hat{u}} \frac{\partial \hat{u}}{\partial t} = -\frac{1}{3} ik^3$$

$$\Rightarrow \ln \hat{u} = -\frac{1}{3} ik^3 t + C(k)$$

$$\Rightarrow \hat{u} = A(k) e^{-\frac{1}{3} ik^3 t}$$

• APPLY THE INITIAL CONDITION AFTER TRANSFORMING IT

- $u(x, 0) = \delta(x)$
- $\hat{u}(k, 0) = \mathcal{F}[\delta(x)] = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \delta(x) e^{-ikx} dx = \frac{1}{\sqrt{2\pi}}$
- $\hat{u}(k, 0) = \frac{1}{\sqrt{2\pi}}$

• THIS $\Rightarrow \frac{1}{\sqrt{2\pi}} = A(k) e^0$

$$\Rightarrow A(k) = \frac{1}{\sqrt{2\pi}}$$

• PLACE

$$\hat{u}(k, t) = \frac{1}{\sqrt{2\pi}} e^{-\frac{1}{3} ik^3 t}$$

• INVERTING THE TRANSFORM

$$\Rightarrow u(x, t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \left[\frac{1}{\sqrt{2\pi}} e^{-\frac{1}{3} ik^3 t} \right] e^{ikx} dk$$

$$\Rightarrow u(x, t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} \frac{1}{\sqrt{2\pi}} e^{-\frac{1}{3} ik^3 t} e^{ikx} dk$$

$$\Rightarrow u(x, t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{i\left(\frac{x}{t^{1/3}} k^3 + kx\right)} dk$$

$$\Rightarrow u(x, t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} \cos\left[\frac{1}{3} k^3 + kx\right] dk$$

• KNOW THE AIRY FUNCTION $\text{Ai}(x) = \frac{1}{\pi} \int_0^\infty \cos\left(\frac{1}{3} k^3 + kx\right) dk$

BY SUBSTITUTION
 $\theta = \frac{1}{3} k^3 + kx$ (CONSTANT)
 $k = \frac{\theta}{t^{1/3}}$
 $dk = \frac{d\theta}{t^{1/3}}$, LIMITS FOR UNCHANGED

$$\Rightarrow u(x, t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} \cos\left(\frac{1}{3} \left(\frac{\theta}{t^{1/3}}\right)^3 + \frac{\theta}{t^{1/3}} x\right) \frac{d\theta}{t^{1/3}}$$

$$\Rightarrow u(x, t) = \frac{1}{t^{1/3}} \int_{-\infty}^{\infty} \cos\left(\frac{1}{3} \theta^3 + \frac{\theta}{t^{1/3}} x\right) d\theta$$

$$\Rightarrow u(x, t) = \frac{1}{t^{1/3}} \text{Ai}\left(\frac{x}{t^{1/3}}\right)$$

Question 5

The function $\Phi = \Phi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \Phi}{\partial x^2} + \frac{\partial^2 \Phi}{\partial y^2} = 0,$$

in the part of the x - y plane for which $y \geq 0$.

It is further given that

- $\Phi(x, 0) = \delta(x)$
- $\Phi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$

Use Fourier transforms to find the solution of the above partial differential equation and hence show that

$$\delta(x) = \lim_{\alpha \rightarrow 0} \left[\frac{1}{\pi \alpha} \left(1 + \frac{y^2}{\alpha^2} \right)^{-1} \right].$$

proof

The image shows two pages of handwritten mathematical work. The left page details the application of the Fourier transform to the Laplace equation in the upper half-plane. It starts with the equation $\frac{\partial^2 \Phi}{\partial x^2} + \frac{\partial^2 \Phi}{\partial y^2} = 0$ for $y \geq 0$, subject to $\Phi(x, 0) = \delta(x)$ and $\Phi \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$. The Fourier transform is applied, leading to $-\hat{\Phi}(k, y) = 0$ for $y > 0$. The boundary condition at $y=0$ is used to find $\hat{\Phi}(k, 0) = \hat{\delta}(k) = 1$. The general solution in the k -domain is $\hat{\Phi}(k, y) = A(k)e^{-ky} + B(k)e^{ky}$. Applying the boundary conditions yields $\hat{\Phi}(k, y) = e^{-ky}$. The inverse Fourier transform is then performed to find $\Phi(x, y) = \frac{1}{\pi} \int_{-\infty}^{\infty} \frac{e^{-ky}}{k^2 + 1} dk$. The right page shows the evaluation of this integral using the residue theorem. It identifies a pole at $k=i$ in the upper half-plane and calculates the residue, leading to the final result $\Phi(x, y) = \frac{1}{\pi} \left(\frac{y}{x^2 + y^2} \right)$. The final step shows that $\delta(x) = \lim_{\alpha \rightarrow 0} \left[\frac{1}{\pi \alpha} \left(1 + \frac{y^2}{\alpha^2} \right)^{-1} \right]$.

Question 6

The function $u = u(t, y)$ satisfies the partial differential equation

$$\frac{\partial u}{\partial t} + y \frac{\partial u}{\partial y} = y, \quad t \geq 0, \quad y > 0,$$

subject to the following conditions

i. $u(0, y) = 1 + y^2, \quad y > 0$

ii. $u(t, 0) = 1, \quad t \geq 0$

Use Laplace transforms in t to show that

$$u(t, y) = 1 + y - ye^{-t} + y^2 e^{-2t}.$$

, proof

START BY TAKING THE LAPLACE TRANSFORM OF THE P.D.E. W.R.T t

$$\begin{aligned} \Rightarrow \frac{\partial}{\partial y} \left[\frac{u}{s} \right] &= \frac{y}{s} \\ \Rightarrow \int \left[\frac{\partial}{\partial y} \left(\frac{u}{s} \right) \right] dy &= \int \frac{y}{s} dy \\ \Rightarrow \left[\frac{u}{s} \right] &= \frac{y^2}{2s} + A(s) \\ \Rightarrow \frac{u}{s} &= \frac{y^2}{2s} + A(s) \\ \Rightarrow \frac{\partial u}{\partial y} &= \frac{y}{s} + sA(s) \\ \Rightarrow \frac{\partial u}{\partial y} &= \frac{y}{s} + \frac{y}{s} + \frac{y}{s} \\ \Rightarrow \frac{\partial u}{\partial y} &= \frac{y}{s} + \frac{y}{s} + \frac{y}{s} \end{aligned}$$

TREAT THE ABOVE AS AN O.D.E. W.R.T y , AS s IS A CONSTANT,
AND LOOK FOR AN INTEGRATING FACTOR

$$\int \frac{1}{y} dy = \ln y \Rightarrow e^{\ln y} = y$$

THUS WE NOW HAVE

$$\begin{aligned} \Rightarrow \frac{\partial}{\partial y} [uy] &= y^2 \left(\frac{1}{s} + \frac{1}{s} + \frac{1}{s} \right) \\ \Rightarrow \frac{\partial}{\partial y} [uy] &= y^{k+1} + y^{2k+1} + \frac{y^k}{s} \\ \Rightarrow uy &= \int y^{k+1} + y^{2k+1} + \frac{y^k}{s} dy \\ \Rightarrow uy &= \frac{1}{s} y^2 + \frac{1}{2s} y^{2+1} + \frac{1}{s(s+1)} y^{s+1} + A(s) \\ \Rightarrow u(s, y) &= \frac{1}{s} + \frac{y^2}{2s} + \frac{y}{s(s+1)} + A(s)y^{-1} \end{aligned}$$

NEXT WE APPLY THE BOUNDARY CONDITIONS $u(t, 0) = 1$

$$\begin{aligned} \Rightarrow u(s, 0) &= 1 \\ \Rightarrow u(s, 0) &= \frac{1}{s} \\ \Rightarrow \frac{1}{s} &= \frac{1}{s} + \frac{1}{2s} \cdot 0 + \frac{1}{s(s+1)} \cdot 0 + A(s) \cdot \frac{1}{s} \rightarrow \infty \end{aligned}$$

$\therefore A(s) = 0$

$\therefore u(s, y) = \frac{1}{s} + \frac{y^2}{2s} + \frac{y}{s(s+1)}$

INVERTING BY PARTIAL FRACTIONS & INVERSION

$$\begin{aligned} u(s, y) &= \frac{1}{s} + \frac{1}{2s} y^2 + \left(\frac{1}{s} - \frac{1}{s+1} \right) y \\ u(s, y) &= \frac{1}{s} + \frac{1}{2s} y^2 + \frac{y}{s} - \frac{y}{s+1} \\ u(s, y) &= 1 + y + \frac{y^2}{2s} - \frac{y}{s+1} \end{aligned}$$

At Reversal

Question 7

The function $\varphi = \varphi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0,$$

in the part of the x - y plane for which $x \geq 0$ and $y \geq 0$.

It is further given that

- $\varphi(x, 0) = \frac{1}{1+x^2}$
- $\varphi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$
- $\frac{\partial}{\partial x}[\varphi(x, 0)] = 0$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$\varphi(x, y) = \frac{y+1}{x^2 + (y+1)^2}.$$

proof

The image shows two pages of handwritten mathematical work. The left page outlines the problem and the first steps of the Fourier transform solution. The right page continues the derivation, applying the boundary conditions and solving the resulting ordinary differential equation in the frequency domain.

Left Page:

- Sketch of the region $x \geq 0, y \geq 0$ in the xy -plane.
- Partial differential equation: $\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0$.
- Boundary conditions: $\varphi(x, 0) = \frac{1}{1+x^2}$, $\varphi \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$, and $\frac{\partial \varphi}{\partial x}(x, 0) = 0$.
- Step 1: Apply Fourier transform in x . Let $\hat{\varphi}(k, y) = \mathcal{F}[\varphi(x, y)]$.
- Step 2: The transformed equation is $-\frac{\partial^2 \hat{\varphi}}{\partial y^2} + k^2 \hat{\varphi} = 0$.
- Step 3: Solve the ODE in y . The general solution is $\hat{\varphi}(k, y) = A(k)e^{ky} + B(k)e^{-ky}$.
- Step 4: Apply boundary conditions in the y -domain. $\hat{\varphi}(k, 0) = \frac{1}{1+k^2}$ and $\frac{\partial \hat{\varphi}}{\partial y}(k, 0) = 0$.
- Step 5: Solve for $A(k)$ and $B(k)$. The result is $\hat{\varphi}(k, y) = \frac{1}{1+k^2} e^{-ky}$.
- Step 6: Take the inverse Fourier transform to find $\varphi(x, y)$.

Right Page:

- Apply the condition $\hat{\varphi}(k, 0) = \frac{1}{1+k^2}$.
- Derive $\hat{\varphi}(k, y) = \frac{1}{1+k^2} e^{-ky}$.
- Now we may invert.
- Use the convolution theorem: $\varphi(x, y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \frac{1}{1+k^2} e^{-iky} \mathcal{F}^{-1}[1] dk$.
- Recognize $\mathcal{F}^{-1}[1] = \delta(k)$.
- Therefore, $\varphi(x, y) = \int_{-\infty}^{\infty} \frac{1}{1+k^2} \delta(k) dk = \frac{1}{1+0^2} = 1$.
- Wait, this is incorrect. The correct approach is to use the known Fourier transform pair: $\frac{1}{1+k^2} \leftrightarrow \frac{\pi}{2} e^{-|x|}$.
- Thus, $\varphi(x, y) = \frac{\pi}{2} e^{-|x|} e^{-y} = \frac{\pi}{2} e^{-|x| - y}$.
- But this does not match the required form. The correct result is $\varphi(x, y) = \frac{y+1}{x^2 + (y+1)^2}$.

Question 8

The function $z = z(x, t)$ satisfies the partial differential equation

$$\frac{\partial u}{\partial x} = 2 \frac{\partial z}{\partial t} + z, \quad x \geq 0, \quad t \geq 0,$$

subject to the following conditions

- $z(x, 0) = 6e^{-3x}$, $x > 0$.
- $z(x, t)$, is bounded for all $x \geq 0$ and $t \geq 0$.

Find the solution of partial differential equation by using Laplace transforms.

$$\boxed{}, \quad z(x, t) = 6e^{-(3x+2t)}$$

The image shows two pages of handwritten work. The left page details the Laplace transform process with respect to t , starting from the PDE and the initial condition $z(x, 0) = 6e^{-3x}$. It derives a first-order ODE for $\bar{z}(x, s)$ and solves it to get $\bar{z}(x, s) = \frac{6e^{-3x}}{s+2}$. The right page shows the inverse Laplace transform, identifying the form $\frac{1}{s+2}$ and concluding that $z(x, t) = 6e^{-(3x+2t)}$.

Handwritten Solution:

Given: $\frac{\partial z}{\partial x} = 2 \frac{\partial z}{\partial t} + z$, $z(x, 0) = 6e^{-3x}$, z is bounded.

Step 1: Laplace Transform w.r.t t

$$\Rightarrow \int \left[\frac{\partial z}{\partial x} \right] = \int \left[2 \frac{\partial z}{\partial t} + z \right]$$

$$\Rightarrow \frac{\partial}{\partial x} \bar{z} = 2 \left[s \bar{z} - z(x, 0) \right] + \bar{z}$$

$$\Rightarrow \frac{\partial \bar{z}}{\partial x} = 2s \bar{z} - 12e^{-3x} + \bar{z}$$

$$\Rightarrow \frac{\partial \bar{z}}{\partial x} - (2s+1)\bar{z} = -12e^{-3x}$$

Step 2: First Order ODE for $\bar{z}(x, s)$

Integrating factor: $e^{-\int (2s+1) dx} = e^{-(2s+1)x}$

$$\Rightarrow \frac{\partial}{\partial x} \left[\bar{z} e^{-(2s+1)x} \right] = -12e^{-3x} e^{-(2s+1)x}$$

$$\Rightarrow \frac{\partial}{\partial x} \left[\bar{z} e^{-(2s+1)x} \right] = -12e^{-(2s+4)x}$$

$$\Rightarrow \bar{z} e^{-(2s+1)x} = \int -12e^{-(2s+4)x} dx$$

$$\Rightarrow \bar{z} e^{-(2s+1)x} = \frac{12}{2s+4} e^{-(2s+4)x} + A(s)$$

$$\Rightarrow \bar{z} = \frac{6}{s+2} e^{-3x} + A(s) e^{(2s+1)x}$$

Step 3: Inverse Laplace Transform

Since z is bounded as $x \rightarrow \infty$, $A(s) = 0$.

$$\Rightarrow \bar{z}(x, s) = \frac{6}{s+2} e^{-3x}$$

Inverse Laplace Transform: $\frac{1}{s+2} \rightarrow e^{-2t}$

$$\Rightarrow z(x, t) = 6e^{-(3x+2t)}$$

Question 9

$$\theta(x) = 8\sin(2\pi x), \quad 0 \leq x \leq 1$$

The above equation represents the temperature distribution $\theta^\circ\text{C}$, maintained along the 1 m length of a thin rod.

At time $t = 0$, the temperature θ is suddenly dropped to $\theta = 0^\circ\text{C}$ at both the ends of the rod at $x = 0$, and at $x = 1$, and the source which was previously maintaining the temperature distribution is removed.

The new temperature distribution along the rod $\theta(x, t)$, satisfies the heat equation

$$\frac{\partial^2 \theta}{\partial x^2} = \frac{\partial \theta}{\partial t}, \quad 0 \leq x \leq 1, \quad t \geq 0.$$

Use Laplace transforms to determine an expression for $\theta(x, t)$.

$$\boxed{\theta(x, t) = 8e^{-4\pi^2 t} \sin(2\pi x)}$$

START BY TAKING LAPLACE TRANSFORM OF THE P.D.E. W.R.T. t

$$\Rightarrow \frac{\partial^2 \theta}{\partial x^2} = \frac{\partial \theta}{\partial t}$$

$$\Rightarrow \int_0^\infty \left[\frac{\partial^2 \theta}{\partial x^2} \right] dt = \int_0^\infty \left[\frac{\partial \theta}{\partial t} \right] dt$$

$$\Rightarrow \frac{\partial^2}{\partial x^2} \left[\int_0^\infty \theta dt \right] = \int_0^\infty \left[\frac{\partial \theta}{\partial t} \right] dt = \theta(x, 0) - \theta(x, \infty)$$

$$\Rightarrow \frac{\partial^2 \bar{\theta}}{\partial x^2} = \bar{\theta} - 8\sin(2\pi x)$$

THIS IS A SECOND ORDER O.D.E FOR $\bar{\theta}(x, s)$, WHERE s IS TREATED AS A POSITIVE CONSTANT

$$\Rightarrow \frac{\partial^2 \bar{\theta}}{\partial x^2} - s\bar{\theta} = -8\sin(2\pi x)$$

$$\Rightarrow \bar{\theta}(x, s) = A(s)e^{sx} + B(s)e^{-sx} + \text{PARTICULAR INTEGRAL}$$

TO FIND THE PARTICULAR INTEGRAL TRY $\bar{\theta}(x, s) = P(s)\sin(2\pi x)$, AS NO SINUS TERM IS PRESENT DUE TO THE ABSENCE OF THE FIRST DERIVATIVE

$$\Rightarrow \frac{\partial^2 \bar{\theta}}{\partial x^2} = -4\pi^2 P(s)\sin(2\pi x)$$

SUBSTITUTE INTO THE O.D.E

$$\Rightarrow -4\pi^2 P(s)\sin(2\pi x) - sP(s)\sin(2\pi x) = -8\sin(2\pi x)$$

$$\Rightarrow (4\pi^2 + s)P(s) = 8$$

$$\Rightarrow P(s) = \frac{8}{4\pi^2 + s}$$

∴ THE GENERAL SOLUTION OF THE O.D.E IS

$$\bar{\theta}(x, s) = A(s)e^{sx} + B(s)e^{-sx} + \frac{8}{4\pi^2 + s} \sin(2\pi x)$$

NEXT WE NEED TO TAKE THE LAPLACE TRANSFORM OF THE BOUNDARY CONDITIONS WHICH INVOLVE t

- $\theta(0, t) = 0 \Rightarrow \int_0^\infty \theta(0, t) dt = \int_0^\infty 0 dt \Rightarrow \bar{\theta}(0, s) = 0$
- $\theta(1, t) = 0 \Rightarrow \int_0^\infty \theta(1, t) dt = \int_0^\infty 0 dt \Rightarrow \bar{\theta}(1, s) = 0$

APPLYING THE TO THE SOLUTION

$$\bar{\theta}(0, s) = 0 \Rightarrow 0 = A(s) + B(s) + 0 \Rightarrow A(s) = -B(s)$$

$$\bar{\theta}(1, s) = 0 \Rightarrow 0 = A(s)e^s + B(s)e^{-s} + 0$$

$$\Rightarrow 0 = -B(s)e^s + B(s)e^{-s} + 0 \Rightarrow 0 = B(s) \left[-e^s + e^{-s} \right]$$

$$\Rightarrow 0 = -2B(s) \sinh s$$

$$\Rightarrow B(s) = 0 \quad (\text{since } \sinh s \neq 0, \text{ as } s \neq 0)$$

$$\Rightarrow A(s) = 0$$

$$\Rightarrow \bar{\theta}(x, s) = \frac{8}{4\pi^2 + s} \sin(2\pi x)$$

INVERSE THE TRANSFORM, NOTICING THAT $\frac{8}{4\pi^2 + s}$ IS A CONSTANT

$$\theta(x, t) = 8e^{-4\pi^2 t} \sin(2\pi x)$$

Question 10

The function $\varphi = \varphi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0,$$

in the semi-infinite region of the x - y plane for which $y \geq 0$.

It is further given that

$$\varphi(x, 0) = f(x)$$

$$\varphi(x, y) \rightarrow 0 \text{ as } \sqrt{x^2 + y^2} \rightarrow \infty$$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$\varphi(x, y) = \frac{y}{\pi} \int_{-\infty}^{\infty} \frac{f(x-u)}{u^2 + y^2} du.$$

 , proof

$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0, y \geq 0$ SUBJECT TO THE CONDITIONS

- $\varphi(x, 0) = f(x)$
- $\varphi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$

TAKE THE FOURIER TRANSFORM OF THE P.D.E. IN x

$$\Rightarrow \mathcal{F}\left[\frac{\partial^2 \varphi}{\partial x^2}\right] + \mathcal{F}\left[\frac{\partial^2 \varphi}{\partial y^2}\right] = \mathcal{F}[0]$$

$$\Rightarrow (ik)^2 \hat{\varphi}(k, y) + \frac{\partial^2}{\partial y^2} \hat{\varphi}(k, y) = 0$$

$$\Rightarrow \frac{\partial^2}{\partial y^2} \hat{\varphi} - k^2 \hat{\varphi} = 0$$

THIS IS A STANDARD 2nd ORDER, AS k IS TREATED AS A CONSTANT

$$\therefore \hat{\varphi}(k, y) = A(k)e^{ky} + B(k)e^{-ky}, \text{ ASSUMING THAT } k \in \mathbb{R}, \text{ AS } \sqrt{x^2 + y^2} \rightarrow \infty$$

AS $\varphi(x, y) \rightarrow 0$ AS $\sqrt{x^2 + y^2} \rightarrow \infty$, SO WHEN $\hat{\varphi}(k, y)$ AS $\sqrt{x^2 + y^2} \rightarrow \infty$,
SO $A(k) = 0$

$$\therefore \hat{\varphi}(k, y) = B(k)e^{-ky}$$

APPLY THE BOUNDARY CONDITION $\hat{\varphi}(k, 0) = \hat{f}(k) \Rightarrow \hat{\varphi}(k, 0) = \hat{f}(k)$

$$\Rightarrow \hat{f}(k) = B(k)e^0$$

$$\Rightarrow B(k) = \hat{f}(k)$$

$$\therefore \hat{\varphi}(k, y) = \hat{f}(k)e^{-ky}$$

TO INVERT WE GO BACK TO THE CONVENTION THEOREM

$$\mathcal{F}[\hat{\varphi}(k, y)] = \hat{\varphi}(x, y) \Rightarrow \mathcal{F}[\hat{f}(k)e^{-ky}] = \hat{\varphi}(x, y)$$

$$\Rightarrow \mathcal{F}[\hat{f}(k)e^{-ky}] = \mathcal{F}[\hat{f}(k)] \times e^{-ky}$$

$$\Rightarrow \mathcal{F}[\hat{f}(k)] = \mathcal{F}[\hat{f}(k)] \times e^{-ky}$$

$$\Rightarrow \mathcal{F}[\hat{f}(k)] = \mathcal{F}[\hat{f}(k)] \times e^{-ky}$$

$$\Rightarrow \mathcal{F}[\hat{f}(k)] = \mathcal{F}[\hat{f}(k)] \times e^{-ky}$$

$\Rightarrow \sqrt{2\pi} \hat{\varphi}(k, y) = \mathcal{F}[\hat{f}(k)]$ (BY THE CONVENTION THEOREM)

$\hat{f}(k)$ IS A "ODD" FUNCTION
 $\hat{g}(k) = e^{-ky}$

INVERTING $\hat{g}(k) = e^{-ky}$

$$\hat{g}(k) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-ky} e^{ikx} dx = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-ky} (e^{ikx} + i \sin kx) dx$$

$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-ky} \cos kx dx = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx$$

$$= \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx$$

$$= \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx$$

$$= \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx$$

$$= \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \cos kx dx$$

FINALLY RETURNING TO THE CONVENTION THEOREM

$$\sqrt{2\pi} \hat{\varphi}(k, y) = \mathcal{F}[\hat{f}(k)]$$

$$\Rightarrow \hat{\varphi}(k, y) = \hat{f}(k) \times \int_0^{\infty} e^{-ky} \cos kx dx$$

$$\Rightarrow \hat{\varphi}(k, y) = \int_0^{\infty} \hat{f}(k) \cos kx dx \times \int_0^{\infty} e^{-ky} \cos kx dx$$

$$\Rightarrow \hat{\varphi}(k, y) = \int_0^{\infty} \hat{f}(k) \cos kx dx \times \int_0^{\infty} e^{-ky} \cos kx dx$$

$$\Rightarrow \hat{\varphi}(k, y) = \int_0^{\infty} \hat{f}(k) \cos kx dx \times \int_0^{\infty} e^{-ky} \cos kx dx$$

$$\Rightarrow \hat{\varphi}(k, y) = \int_0^{\infty} \hat{f}(k) \cos kx dx \times \int_0^{\infty} e^{-ky} \cos kx dx$$

AS REQUIRED

Question 11

The function $\varphi = \varphi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0,$$

in the semi-infinite region of the x - y plane for which $y \geq 0$.

It is further given that for a given function $f = f(x)$

- $\frac{\partial}{\partial y} [\varphi(x, 0)] = \frac{\partial}{\partial x} [f(x)]$
- $\varphi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$\varphi(x, 0) = \frac{1}{\pi} \int_{-\infty}^{\infty} \frac{f(u)}{x-u} du.$$

proof

[solution overleaf]

• Hence we obtain

INVERTING THE SPECIAL CASE $\phi(x_1)$

$$\hat{\phi}(k_0) = (-i\gamma k) \hat{\psi}(k)$$

Product of two Borel transforms

CONVOLUTION THEOREM

$$\mathcal{F}[f * g] = \sqrt{2\pi} \mathcal{F}[f] \mathcal{F}[g]$$

$$\frac{1}{\sqrt{2\pi}} \mathcal{F}[f * g] = \mathcal{F}[f] \mathcal{F}[g]$$

$$\hat{\phi}(k, 0) \quad \hat{f}(k) \quad \hat{g}(k) = -i \operatorname{sgn} k$$

$$\text{So } \phi(x, 0) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} f(u) g(x-u) du$$

NEED $\hat{g}(x)$ SO WE NEED TO INVERT $\hat{g}(k) = -i \text{sign } k$

$$g(x) = \lim_{\varepsilon \rightarrow 0} \left[\frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \underbrace{(-i \operatorname{sgn} k)}_{\text{odd}} \underbrace{e^{-\varepsilon|k|}}_{\text{even}} e^{ikx} dk \right]$$

$$= \lim_{\epsilon \rightarrow 0} \left[\frac{-2i}{\sqrt{2\pi}} \int_0^{\infty} 1 \times e^{-\epsilon k} (ismkx) dk \right]$$

$$= \lim_{\epsilon \rightarrow 0} \left[\sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-\epsilon k} \sin kx \, dk \right]$$

$$= \lim_{\epsilon \rightarrow 0} \left[\sqrt{\frac{2}{\pi}} \operatorname{Im} \int_{\epsilon}^{\infty} \frac{e^{-k}}{e^{ik}} dk \right]$$

$$= \sqrt{\frac{2}{\pi}} \lim_{\epsilon \rightarrow 0} \left[\mathcal{T}_N \int_0^{\infty} e^{t(-\epsilon + i\lambda)} d\lambda \right]$$

$$= \sqrt{\frac{2}{\pi}} \lim_{\epsilon \rightarrow 0} \left[\operatorname{Im} \left[\frac{1}{-\epsilon + i\lambda} \right] e^{k(-\epsilon + i\lambda)} \right]_{\epsilon \rightarrow 0}$$

$$= \sqrt{\frac{2}{\pi}} \lim_{\epsilon \rightarrow 0} \left[\operatorname{Im} \left[\frac{-\epsilon - ix}{\epsilon^2 + x^2} e^{-ik} (\cos kx + i \sin kx) \right] \right]$$

$$= \sqrt{\frac{2}{\pi}} \lim_{\varepsilon \rightarrow 0} \left[\operatorname{Im} \left[\frac{-\varepsilon - i\alpha}{\varepsilon^2 + \alpha^2} (0 - 1) \right] \right]$$

$$= \sqrt{\frac{2}{\pi}} \lim_{\epsilon \rightarrow 0} \left[\text{Im} \left[\frac{\epsilon + i\alpha}{\epsilon^2 + \alpha^2} \right] \right]$$

$$= \sqrt{\frac{2}{\pi}} \lim_{\varepsilon \rightarrow 0} \left[\frac{x}{\varepsilon^2 + x^2} \right]$$

$$= \sqrt{\frac{2}{n}} \frac{\lambda}{\lambda^2}$$

$$= \sqrt{\frac{2}{\pi}} \frac{1}{x}$$

FINAUY

$$\phi(x_0) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} f(u) \times \left[\sqrt{\frac{2}{\pi}} \frac{1}{x-u} \right] du. \quad f(u) = \sqrt{\frac{2}{\pi}} \frac{1}{x}$$

$$\phi(x_0) = \frac{1}{\pi} \int_{-\infty}^{\infty} \frac{f(u)}{x-u} du$$

Question 12

The function $\varphi = \varphi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0, \quad -\infty < x < \infty, \quad y \geq 0.$$

It is further given that

- $\varphi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$
- $\varphi(x, 0) = H(x)$, the Heaviside function.

Use Fourier transforms to show that

$$\varphi(x, y) = \frac{1}{2} + \frac{1}{\pi} \arctan\left(\frac{x}{y}\right).$$

You may assume that

$$\mathcal{F}[H(x)] = \frac{1}{\sqrt{2\pi}} \left[\pi \delta(k) + \frac{1}{ik} \right].$$

proof

$\frac{\partial^2 \varphi}{\partial x^2} + \frac{\partial^2 \varphi}{\partial y^2} = 0 \quad -\infty < x < \infty, \quad y \geq 0$

SUBJECT TO THE BOUNDARY CONDITIONS

$\varphi(x, y) \rightarrow 0$ As $\sqrt{x^2 + y^2} \rightarrow \infty$ (I)

$\varphi(x, 0) = H(x)$, THE HEAVISIDE FUNCTION (II)

● TAKING FOURIER TRANSFORM OF THE PDE W.R.T x

$\Rightarrow \mathcal{F}\left[\frac{\partial^2 \varphi}{\partial x^2}\right] + \mathcal{F}\left[\frac{\partial^2 \varphi}{\partial y^2}\right] = \mathcal{F}[0]$

$\Rightarrow (ik)^2 \hat{\varphi}(k, y) + \frac{\partial^2}{\partial y^2} \hat{\varphi}(k, y) = 0$

$\Rightarrow -k^2 \hat{\varphi}(k, y) + \frac{\partial^2 \hat{\varphi}(k, y)}{\partial y^2} = 0$

$\Rightarrow \frac{\partial^2 \hat{\varphi}}{\partial y^2} - k^2 \hat{\varphi} = 0$

$\Rightarrow \hat{\varphi}(k, y) = A(k)e^{ky} + B(k)e^{-ky}$

● USING THE FIRST BOUNDARY CONDITION

As $\hat{\varphi}(k, y) \rightarrow 0$ As $\sqrt{x^2 + y^2} \rightarrow \infty$, so will $\hat{\varphi}(k, y) \rightarrow 0$

As $\sqrt{x^2 + y^2} \rightarrow \infty$

$\therefore A(k) = 0$

$\Rightarrow \hat{\varphi}(k, y) = B(k)e^{-ky}$

● APPLY THE SECOND BOUNDARY CONDITION

$\varphi(x, 0) = H(x)$

$\hat{\varphi}(k, 0) = \mathcal{F}[H(x)]$

$B(k)e^0 = \frac{1}{\sqrt{2\pi}} \left[\pi \delta(k) + \frac{1}{ik} \right]$

$B(k) = \frac{1}{\sqrt{2\pi}} \left[\pi \delta(k) + \frac{1}{ik} \right]$

$\Rightarrow \hat{\varphi}(k, y) = \frac{1}{\sqrt{2\pi}} \left[\pi \delta(k) + \frac{1}{ik} \right] e^{-ky}$

● SKETCH THE INVERSION PROCESS FROM FIRST PRINCIPLES

$\Rightarrow \varphi(x, y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \left[\pi \delta(k) + \frac{1}{ik} \right] e^{-iky} e^{ikx} dk$

$\Rightarrow \varphi(x, y) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \pi \delta(k) e^{-iky} e^{ikx} dk + \frac{1}{2\pi i} \int_{-\infty}^{\infty} \frac{e^{-iky} e^{ikx}}{k} dk$

$\Rightarrow \varphi(x, y) = \frac{1}{2} \int_{-\infty}^{\infty} \delta(k) [e^{-iky} e^{ikx}] dk + \frac{1}{2\pi i} \int_{-\infty}^{\infty} \frac{e^{-ky} (e^{ikx})}{k} dk$

$\Rightarrow \varphi(x, y) = \frac{1}{2} (e^x e^0) + \frac{1}{2\pi i} \int_{-\infty}^{\infty} \frac{e^{-ky} \sin kx}{k} dk$

$\Rightarrow \varphi(x, y) = \frac{1}{2} + \frac{1}{2\pi i} \int_{-\infty}^{\infty} \frac{e^{-ky} \sin kx}{k} dk$

● TO FIND THIS INTEGRAL, CONSIDER THE INTEGRAL

$I = \int_{-\infty}^{\infty} \frac{e^{-ky} \sin kx}{k} dk$

$\frac{\partial I}{\partial x} = \frac{\partial}{\partial x} \int_{-\infty}^{\infty} \frac{e^{-ky} \sin kx}{k} dk = \int_{-\infty}^{\infty} \frac{e^{-ky}}{k} \frac{\partial}{\partial x} (\sin kx) dk$

$\frac{\partial I}{\partial x} = \int_{-\infty}^{\infty} e^{-ky} \cos kx dk$

$\frac{\partial I}{\partial x} = \text{Re} \int_{-\infty}^{\infty} e^{-ky} e^{ikx} dk$

$\frac{\partial I}{\partial x} = \text{Re} \int_{-\infty}^{\infty} e^{k(-y+ix)} dk$

$\frac{\partial I}{\partial x} = \text{Re} \left[\frac{e^{k(-y+ix)}}{-y+ix} \right]_{-\infty}^{\infty}$

$\frac{\partial I}{\partial x} = \text{Re} \left[\frac{-y-ix}{y^2+x^2} e^{-ky} e^{ikx} \right]_{-\infty}^{\infty}$

$\frac{\partial I}{\partial x} = \text{Re} \left[\frac{-y-ix}{y^2+x^2} (0-0) \right]$

$\frac{\partial I}{\partial x} = \frac{0}{y^2+x^2}$

$I = \arctan\left(\frac{x}{y}\right) + C$

$\int_{-\infty}^{\infty} \frac{e^{-ky} \sin kx}{k} dk = \arctan\left(\frac{x}{y}\right) + C$

Let $x=0 \Rightarrow \int_{-\infty}^{\infty} 0 dk = \arctan(0) + C$

$\Rightarrow C=0$

$\int_{-\infty}^{\infty} \frac{e^{-ky} \sin kx}{k} dk = \arctan\left(\frac{x}{y}\right)$

$\Rightarrow \varphi(x, y) = \frac{1}{2} + \frac{1}{2\pi i} \arctan\left(\frac{x}{y}\right)$

Question 13

The temperature $\theta(x, t)$ in a semi-infinite thin rod satisfies the heat equation

$$\frac{\partial^2 \theta}{\partial x^2} = \frac{\partial \theta}{\partial t}, \quad x \geq 0, \quad t \geq 0.$$

The initial temperature of the rod is 0°C , and for $t > 0$ the endpoint at $x = 0$ is maintained at $T^\circ\text{C}$.

Assuming the rod is insulated along its length, use Laplace transforms to find an expression for $\theta(x, t)$.

You may assume that

- $\mathcal{L}^{-1}\left[\frac{e^{-\sqrt{s}}}{s}\right] = \operatorname{erfc}\left(\frac{1}{2\sqrt{t}}\right)$

- $\mathcal{L}^{-1}[\bar{f}(ks)] = \frac{1}{k} f\left(\frac{t}{k}\right)$, where k is a constant.

$$\theta(x,t) = \frac{2T}{\sqrt{\pi}} \int_{\frac{x}{2\alpha\sqrt{t}}}^{\infty} e^{-u^2} du = T \operatorname{erfc}\left(\frac{x}{2\alpha\sqrt{t}}\right)$$

$\frac{\partial^2 \Theta}{\partial x^2} = \frac{1}{\alpha^2} \frac{\partial \Theta}{\partial t}$, for $\Theta = \Theta(x, t)$, $t \geq 0$ SURVEY TO $\Theta(x, 0) = 0$, $x \geq 0$
 $\Theta(x, t) = T$

• TAKING THE LAPLACE TRANSFORM OF THE P.D.E, WE GET \Rightarrow
 $\Rightarrow \left[\frac{\partial^2 \Theta}{\partial x^2} \right] = \frac{1}{\alpha^2} \left[\frac{\partial \Theta}{\partial t} \right]$
 $\Rightarrow \frac{\partial^2}{\partial x^2} \left[\frac{\partial \Theta}{\partial t} \right] = \frac{1}{\alpha^2} \left[\frac{\partial}{\partial t} \left[\frac{\partial \Theta}{\partial x} \right] - \frac{\partial \Theta}{\partial x} \right]$
 $\Rightarrow \frac{\partial^2 \Theta}{\partial x^2} = \frac{1}{\alpha^2} \Theta$

• THIS HAS CONVERTED THE PDE INTO AN ODE FOR $\Theta = \Theta(x, s)$, WHERE s IS TREATED AS A CONSTANT
 $\Rightarrow \bar{\Theta}(x, s) = A(s)e^{\frac{\sqrt{s}}{\alpha}x} + B(s)e^{-\frac{\sqrt{s}}{\alpha}x}$

• AS SOLUTION MUST BE BOUNDED AS $x \rightarrow \infty$, $A(s) = 0$, SINCE $\bar{\Theta}(x, s)$ MUST ALSO BE BOUNDED AS $x \rightarrow \infty$
 $\Rightarrow \bar{\Theta}(x, s) = B(s)e^{-\frac{\sqrt{s}}{\alpha}x}$

• APPLY THE LAPLACE TRANSFORM IN THE BOUNDARY CONDITION
 $\Theta(0, t) = T$
 $\Rightarrow \left[\frac{\partial \Theta}{\partial t} \right] = \frac{\partial}{\partial t} [T]$
 $\bar{\Theta}(0, s) = \frac{T}{s}$

SINCE IF $x=0$
 $\bar{\Theta}(0, s) = B(s)e^0$
 $\frac{T}{s} = B(s)$
 $\Rightarrow \bar{\Theta}(x, s) = \frac{T}{s} e^{-\frac{\sqrt{s}}{\alpha}x}$

• WE HAVE NOW EVALUATED INVERSE LAPLACE — FOR THIS WE USE THE FOLLOWING STANDARD RESULTS
 $\int_0^\infty \left[\frac{e^{-\frac{x^2}{4t}}}{\sqrt{t}} \right] dt = \text{erfc} \left(\frac{x}{2\sqrt{t}} \right)$
 $\Rightarrow \int_0^\infty \left[\frac{\bar{\Theta}(x, s)}{s} \right] ds = \frac{1}{t} \left(\frac{x}{2\sqrt{t}} \right)$

• IN OUR CASE
 $\Rightarrow \bar{\Theta}(x, s) = T \times e^{-\frac{\sqrt{s}}{\alpha}x}$
 $\Rightarrow \bar{\Theta}(x, s) = T \times \frac{e^{-\sqrt{s} \frac{x}{\alpha}}}{s} = T \times \frac{1}{s} \times \frac{e^{-\sqrt{s} \frac{x}{\alpha}}}{1}$
 $\Rightarrow \Theta(x, t) = T \times \frac{\partial}{\partial s} \left[\frac{e^{-\sqrt{s} \frac{x}{\alpha}}}{s} \right] \times \left(\frac{1}{2\sqrt{\frac{x^2}{4t}}} \right)$
 $\Rightarrow \Theta(x, t) = T \times \text{erfc} \left(\frac{1}{2\sqrt{\frac{x^2}{4t}}} \right)$
 $\Rightarrow \Theta(x, t) = T \times \text{erfc} \left(\frac{x}{2\sqrt{\alpha t}} \right)$
 $\text{OR } \Theta(x, t) = T \times \frac{1}{\sqrt{\pi t}} \int_0^\infty e^{-u^2} du$

Question 15

The function $\psi = \psi(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 \psi}{\partial x^2} + \frac{\partial^2 \psi}{\partial y^2} = 0,$$

in the part of the x - y plane for which $y \geq 0$.

It is further given that

- $\psi(x, 0) = f(x)$
 - $\psi(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$
- c) Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$\psi(x, y) = \frac{y}{\pi} \int_{-\infty}^{\infty} \frac{f(u)}{(x-u)^2 + y^2} du.$$

d) Evaluate the above integral for ...

- i. ... $f(x) = 1$.
- ii. ... $f(x) = \operatorname{sgn} x$
- iii. ... $f(x) = H(x)$

commenting further whether these answers are consistent.

$$\boxed{\psi(x, y) = 1}, \quad \boxed{\psi(x, y) = \frac{2}{\pi} \arctan\left(\frac{x}{y}\right)}, \quad \boxed{\psi(x, y) = \frac{1}{2} + \frac{1}{\pi} \arctan\left(\frac{x}{y}\right)}$$

[solution overleaf]

$$\begin{aligned} f(x) &= H(x) \quad \text{i.e.} \quad f(x) = H(x) \\ V(x) &= \frac{y}{\pi} \int_{-\infty}^{\infty} \frac{H(u)}{u^2 + y^2} du = \frac{y}{\pi} \int_{-\infty}^{\infty} \frac{1}{u^2 + y^2} du \\ &\text{SIMIL. SUBSTITUTION AS ABOVE} \\ &= \frac{y}{\pi} \int_{-\infty}^{\infty} \frac{1}{t^2 + 1} (-dt) = \frac{y}{\pi} \int_{\infty}^{-\infty} \frac{1}{t^2 + 1} dt \\ &= \frac{y}{\pi} \times \left[\operatorname{arctan}\left(\frac{t}{1}\right) \right]_{\infty}^{-\infty} = \frac{y}{\pi} \left[\operatorname{arctan}\left(\frac{1}{t}\right) - (-\frac{\pi}{2}) \right] \\ &= \frac{1}{\pi} \left[\frac{\pi}{2} + \operatorname{arctan}\left(\frac{1}{y}\right) \right] = \frac{1}{2} + \frac{1}{\pi} \operatorname{arctan}\left(\frac{1}{y}\right) \end{aligned}$$

Question 16

The function $u = u(x, y)$ satisfies Laplace's equation in Cartesian coordinates,

$$\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} = 0,$$

in the part of the x - y plane for which $x \geq 0$ and $y \geq 0$.

It is further given that

- $u(0, y) = 0$
- $u(x, y) \rightarrow 0$ as $\sqrt{x^2 + y^2} \rightarrow \infty$
- $u(x, 0) = f(x)$, $f(0) = 0$, $f(x) \rightarrow 0$ as $x \rightarrow \infty$

Use Fourier transforms to show that

$$u(x, y) = \frac{y}{\pi} \int_0^\infty f(w) \left[\frac{1}{y^2 + (x-w)^2} - \frac{1}{y^2 + (x+w)^2} \right] dw.$$

proof

[solution overleaf]

$\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} = 0$

Subs. $u(x,y) \rightarrow 0$ as $\sqrt{x^2+y^2} \rightarrow \infty$

Boundary conditions:

- $u(x,0) = 0$
- $u(0,y) = \frac{1}{2} \ln 2$
- $u(x,y) \rightarrow 0$ as $x \rightarrow \infty$

1. Although the domain is not symmetric in x (or y), extend $u(x,y)$ & $f(x)$ in the negative x direction, so both are odd.

2. Take Fourier transform of the P.D.E. in x .

$$\Rightarrow \mathcal{F}\left[\frac{\partial^2 u}{\partial x^2}\right] + \mathcal{F}\left[\frac{\partial^2 u}{\partial y^2}\right] = \mathcal{F}[0]$$

$$\Rightarrow (ik)^2 \hat{u}(k,y) + \frac{\partial^2}{\partial y^2} \hat{u}(k,y) = 0$$

$$\Rightarrow \frac{\partial^2}{\partial y^2} \hat{u} - k^2 \hat{u} = 0$$

$$\Rightarrow \hat{u}(k,y) = A(k) e^{-ky} + B(k) e^{ky}$$

3. Apply boundary condition ①

If $u(x,0) \rightarrow 0$ as $\sqrt{x^2+y^2} \rightarrow \infty$, then $\hat{u}(k,y) \rightarrow 0$ as $\sqrt{k^2+y^2} \rightarrow \infty$

$$\Rightarrow A(k) = 0$$

$$\Rightarrow \hat{u}(k,y) = B(k) e^{-ky}$$

4. Apply boundary condition ②

$$\Rightarrow u(x,0) = \frac{1}{2} \ln 2$$

$$\Rightarrow \hat{u}(k,0) = \hat{f}(k)$$

5. At $y=0$ we have equality, we start the integration from first boundaries

$$\Rightarrow u(x,y) = \frac{1}{2\pi} \int_{-\infty}^{\infty} \hat{u}(k,y) e^{ikx} dk$$

As $u(x,y)$ is odd (we have odd extension), $\hat{u}(k,y)$ will also be odd

$$\Rightarrow u(x,y) = \frac{2}{2\pi} \int_0^{\infty} \hat{u}(k,y) \sin kx dk$$

$$\Rightarrow u(x,y) = \sqrt{\frac{2}{\pi}} \int_0^{\infty} \hat{f}(k) e^{-ky} \sin kx dk$$

$$\Rightarrow u(x,y) = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \sin kx \left[\int_{-\infty}^{\infty} f(w) e^{-ikw} dw \right] dk$$

As f is "odd" too, only the odd (sine-not cosine) survives

$$\Rightarrow u(x,y) = \sqrt{\frac{2}{\pi}} \int_0^{\infty} e^{-ky} \sin kx \left[-\sqrt{\frac{2}{\pi}} \int_0^{\infty} f(w) \sin kw dw \right] dk$$

$$\Rightarrow u(x,y) = -\frac{2}{\pi} (1)^2 \int_0^{\infty} e^{-ky} \sin kx \left[\int_0^{\infty} f(w) \sin kw dw \right] dk$$

$$\Rightarrow u(x,y) = \frac{2}{\pi} \int_0^{\infty} e^{-ky} f(w) \sin kx \sin kw dw dk$$

6. Finding the order of integration noting that the limits are unbounded (Box region $0 \leq \infty$)

$$\Rightarrow u(x,y) = \frac{2}{\pi} \int_0^{\infty} f(w) \left[\int_0^{\infty} e^{-ky} \sin kx \sin kw dk \right] dw$$

Need to derive an identity

$$\begin{aligned} \cos(\cos \sin) &= \cos \cos \sin - \sin \cos \sin \\ \cos(x-y) &= \cos x \cos y + \sin x \sin y \\ \cos(x-y) - \cos(x+y) &= 2 \sin x \sin y \end{aligned}$$

$$\Rightarrow u(x,y) = \frac{1}{\pi} \int_0^{\infty} f(w) \left[\int_0^{\infty} e^{-ky} \sin kx \sin kw dk \right] dw$$

7. Looking at each of the "inner" integrals

$$\int_0^{\infty} e^{-ky} \sin kx \sin kw dk = \operatorname{Re} \int_0^{\infty} e^{-ky} e^{ikx} e^{-ikw} dk$$

$$= \operatorname{Re} \int_0^{\infty} e^{k[-y+i(x-w)]} dk = \operatorname{Re} \left[\frac{1}{-y+i(x-w)} e^{k[-y+i(x-w)]} \right]_{k=0}^{\infty}$$

$$= \operatorname{Re} \left[\frac{-y-i(x-w)}{y^2+(x-w)^2} e^{k[-y+i(x-w)]} \right]_{k=0}^{\infty} = \operatorname{Re} \left[\frac{-y-i(x-w)}{y^2+(x-w)^2} (0-1) \right]$$

$$= \frac{y}{y^2+(x-w)^2}$$

Similarly the other integral about $\sin kx \sin kw$ gives us $\frac{w}{w^2+(x-w)^2}$

8. $u(x,y) = \frac{1}{\pi} \int_0^{\infty} f(w) \left[\frac{y}{y^2+(x-w)^2} - \frac{y}{y^2+(x+w)^2} \right] dw$

9. $u(x,y) = \frac{y}{\pi} \int_0^{\infty} f(w) \left[\frac{1}{y^2+(x-w)^2} - \frac{1}{y^2+(x+w)^2} \right] dw$

Question 17

The function $\theta = \theta(x, t)$ satisfies the heat equation in one spatial dimension,

$$\frac{\partial^2 \theta}{\partial x^2} = \frac{1}{\sigma^2} \frac{\partial \theta}{\partial t}, \quad -\infty < x < \infty, \quad t \geq 0,$$

where σ is a positive constant.

Given further that $\theta(x, 0) = f(x)$, use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$\theta(x, t) = \frac{1}{2\sigma\sqrt{\pi t}} \int_{-\infty}^{\infty} f(x-u) \exp\left(-\frac{u^2}{4t\sigma^2}\right) du.$$

proof

$\frac{\partial^2 \theta}{\partial x^2} = \frac{1}{\sigma^2} \frac{\partial \theta}{\partial t}$ $-\infty < x < \infty$ $t \geq 0$ $\theta(x, 0) = f(x)$
 TAKE THE FOURIER TRANSFORM OF THE P.D.E. W.R.T. x
 $\Rightarrow \mathcal{F}\left[\frac{\partial^2 \theta}{\partial x^2}\right] = \frac{1}{\sigma^2} \mathcal{F}\left[\frac{\partial \theta}{\partial t}\right]$
 $\Rightarrow (ik)^2 \hat{\theta}(k, t) = \frac{1}{\sigma^2} \frac{\partial \hat{\theta}(k, t)}{\partial t}$
 $\Rightarrow -k^2 \hat{\theta} = \frac{1}{\sigma^2} \frac{\partial \hat{\theta}}{\partial t}$
 $\Rightarrow \frac{\partial \hat{\theta}}{\partial t} = -k^2 \sigma^2 \hat{\theta}$ (SIMPLE ORDINARY D.E. AS k IS TREATED AS A CONSTANT)
 $\Rightarrow \hat{\theta}(k, t) = A(k) e^{-k^2 \sigma^2 t}$
 APPLY THE INITIAL CONDITION: $\theta(x, 0) = f(x)$
 $\hat{\theta}(k, 0) = \hat{f}(k) \Rightarrow \hat{\theta}(k, 0) = \hat{f}(k)$
 $\Rightarrow A(k) e^{-k^2 \sigma^2 \cdot 0} = \hat{f}(k)$
 $\Rightarrow A(k) = \hat{f}(k)$
 $\hat{\theta}(k, t) = \hat{f}(k) e^{-k^2 \sigma^2 t}$
 TO INVERT WE USE THE CONVOLUTION THEOREM
 $\mathcal{F}[f * g] = \mathcal{F}[f] \mathcal{F}[g]$
 $\mathcal{F}[\hat{\theta}(k, t)] = \hat{f}(k) e^{-k^2 \sigma^2 t}$
 $\mathcal{F}^{-1}[\hat{\theta}(k, t)] = \mathcal{F}^{-1}[\hat{f}(k) e^{-k^2 \sigma^2 t}]$
 $\Rightarrow \theta(x, t) = f(x) * \frac{1}{\sigma\sqrt{4t}} e^{-\frac{x^2}{4t\sigma^2}}$

$f(x)$ IS GIVEN $g(x)$ THE UNIT GAUSS
 $\hat{g}(k) = e^{-k^2 \sigma^2 t}$
 $\hat{\theta}(k) = \frac{1}{\sigma\sqrt{4t}} \hat{f}(k) \hat{g}(k) = \frac{1}{\sigma\sqrt{4t}} \hat{f}(k) e^{-k^2 \sigma^2 t}$
 $\Rightarrow \hat{\theta}(k) = \frac{1}{\sigma\sqrt{4t}} \int_{-\infty}^{\infty} f(x-u) e^{-\frac{u^2}{4t\sigma^2}} dk$
 LET $I = \int_{-\infty}^{\infty} e^{-k^2 \sigma^2 t} dk$
 $\Rightarrow \frac{\partial I}{\partial t} = \int_{-\infty}^{\infty} \frac{\partial}{\partial t} e^{-k^2 \sigma^2 t} dk = \int_{-\infty}^{\infty} -k^2 \sigma^2 e^{-k^2 \sigma^2 t} dk$
 $\Rightarrow \frac{\partial I}{\partial t} = -\frac{1}{2t} I$
 BY PARTS (WRT k)
 $\frac{\partial I}{\partial t} = \int_{-\infty}^{\infty} \frac{\partial}{\partial t} e^{-k^2 \sigma^2 t} dk = \int_{-\infty}^{\infty} -k^2 \sigma^2 e^{-k^2 \sigma^2 t} dk$
 $\Rightarrow \frac{\partial I}{\partial t} = -\frac{1}{2t} I$
 SOLVING THE O.D.E. BY SEPARATION OF VARIABLES
 $\Rightarrow \frac{1}{I} \frac{\partial I}{\partial t} = -\frac{1}{2t}$

$\Rightarrow \ln I = -\frac{1}{4t\sigma^2} + C$
 $\Rightarrow I = A e^{-\frac{1}{4t\sigma^2}} \quad (A = e^C)$
 $\Rightarrow \int_{-\infty}^{\infty} e^{-k^2 \sigma^2 t} dk = A e^{-\frac{1}{4t\sigma^2}}$
 EVALUATE AT $t=0$
 $\Rightarrow \int_{-\infty}^{\infty} e^{-k^2 \sigma^2 \cdot 0} dk = A$
 USE A SUBSTITUTION $u = k\sigma\sqrt{t}$ $du = \sigma\sqrt{t} dk$ $dk = \frac{du}{\sigma\sqrt{t}}$
 $\Rightarrow A = \frac{1}{\sigma\sqrt{t}} \int_{-\infty}^{\infty} e^{-u^2} du$
 $\Rightarrow A = \frac{1}{\sigma\sqrt{t}} \sqrt{\pi}$
 $\Rightarrow I = \frac{1}{\sigma\sqrt{t}} \sqrt{\pi} e^{-\frac{1}{4t\sigma^2}}$
 $\Rightarrow \hat{g}(k) = \frac{1}{\sigma\sqrt{4t}} I = \frac{1}{\sigma\sqrt{4t}} \frac{1}{\sigma\sqrt{t}} \sqrt{\pi} e^{-\frac{1}{4t\sigma^2}}$
 $\Rightarrow \hat{g}(k) = \frac{1}{\sigma\sqrt{4t}} e^{-\frac{k^2 \sigma^2 t}{4}}$

EQUIVOCAL TO THE QUESTION
 $\sqrt{4t\sigma^2} \hat{\theta}(k, t) = \hat{f} * \hat{g}$
 $\Rightarrow \hat{\theta}(k, t) = \frac{1}{\sqrt{4t\sigma^2}} \int_{-\infty}^{\infty} f(x-u) \hat{g}(k) dy$
 $\Rightarrow \hat{\theta}(k, t) = \frac{1}{\sqrt{4t\sigma^2}} \int_{-\infty}^{\infty} f(x-u) \frac{1}{\sigma\sqrt{t}} e^{-\frac{u^2}{4t\sigma^2}} dy$
 $\Rightarrow \hat{\theta}(k, t) = \frac{1}{2\sigma\sqrt{4t\sigma^2}} \int_{-\infty}^{\infty} f(x-u) e^{-\frac{u^2}{4t\sigma^2}} dy$
 (IF $f(x)$ IS GIVEN EXPLICITLY, THE INTEGRAL MAY BE EVALUATED)

Question 18

The function $T = T(x, t)$ satisfies the heat equation in one spatial dimension,

$$\frac{\partial^2 \theta}{\partial x^2} = \frac{1}{\sigma} \frac{\partial \theta}{\partial t}, \quad x \geq 0, t \geq 0,$$

where σ is a positive constant.

It is further given that

- $T(x, 0) = f(x)$
- $T(0, t) = 0$
- $T(x, t) \rightarrow 0$ as $x \rightarrow \infty$

Use Fourier transforms to convert the above partial differential equation into an ordinary differential equation and hence show that

$$T(x, t) = \frac{1}{\sqrt{4\pi\sigma t}} \int_{-\infty}^{\infty} f(u) \exp\left[-\frac{(x-u)^2}{4t\sigma}\right] du.$$

You may assume that $\mathcal{F}\left[e^{ax^2}\right] = \frac{1}{\sqrt{2a}} e^{\frac{k^2}{4a}}.$

proof

$\frac{\partial^2 T}{\partial x^2} = \frac{1}{\sigma} \frac{\partial T}{\partial t}$
 SUBJECT TO $T(x, 0) = f(x)$ (KNOWN)
 $T(0, t) = 0$
 $T(x, t) \rightarrow 0$ as $x \rightarrow \infty$

• WE DO NOT HAVE A FULL RANGE IN x - BUILD AN EXTENSION TO $-\infty$
 (THE INITIAL CONDITION $T(x, 0) = 0$ IMPLIES TO ZERO IN END EXTENSION)
 IF $\frac{\partial T}{\partial x}(0) = 0$ WE WOULD HAVE BOTH AN EVEN EXTENSION

• THIS ZEROING OUT THE INITIAL EXTENSION IN x
 $\Rightarrow \frac{\partial T}{\partial x} = 0 = \frac{\partial^2 T}{\partial x^2}$
 $\Rightarrow \mathcal{F}\left[\frac{\partial^2 T}{\partial x^2}\right] = \mathcal{F}\left[\frac{\partial T}{\partial t}\right]$
 $\Rightarrow \frac{\partial^2}{\partial x^2} \mathcal{F}(T) = \sigma \frac{\partial}{\partial t} \mathcal{F}(T)$
 $\Rightarrow \frac{\partial^2 \hat{T}}{\partial k^2} = -\sigma k^2 \hat{T}$

• IF WE HAVE AN O.D.E IN $\hat{T}(k, t)$, k IS TREATED AS A CONSTANT
 SEPARATING VARIABLES - OR RECOGNISING THE EXPONENTIAL DECAY TYPE!

$\hat{T}(k, t) = A(k) e^{-\sigma k^2 t}$

• APPLY INITIAL CONDITION TO $t=0$
 $T(x, 0) = f(x) \Rightarrow \hat{T}(k, 0) = \hat{f}(k)$
 $\hat{T}(k, 0) = A(k) e^{-\sigma k^2 \cdot 0} \Rightarrow A(k) = \hat{f}(k)$
 $\hat{T}(k, t) = \hat{f}(k) e^{-\sigma k^2 t}$

• NOT THE CONVOLUTION THEOREM
 $\Rightarrow \mathcal{F}[f * g] = \sqrt{2\pi} \mathcal{F}(f) \mathcal{F}(g)$
 $\Rightarrow \frac{1}{\sqrt{2\pi}} \mathcal{F}[f * g] = \mathcal{F}(f) \mathcal{F}(g)$
 $\Rightarrow \hat{T}(x, t) = \hat{f}(x) e^{-\sigma k^2 t}$

• COMBINING VARIABLES ON THE RHS WE OBTAIN
 $\Rightarrow \hat{T}(k, t) = \frac{1}{\sqrt{2\pi}} \mathcal{F}[f * g]$
 $\Rightarrow T(x, t) = \frac{1}{\sqrt{2\pi}} f * g$ (WHERE f IS KNOWN)
 AN g IS SUCH THAT $\hat{g}(k) = e^{-\sigma k^2 t}$

$\Rightarrow T(x, t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} g(x-u) f(u) du$

• WE ARE GIVEN THAT
 $\mathcal{F}[e^{-ak^2}] = \frac{1}{\sqrt{2a}} e^{-\frac{x^2}{4a}}$
 $\sqrt{2\pi} \mathcal{F}[e^{-\sigma k^2 t}] = e^{-\frac{x^2}{4\sigma t}}$ THEN $\frac{1}{4\sigma} = \sigma t \Rightarrow a = \frac{1}{4\sigma t}$
 $\frac{1}{\sqrt{2\sigma t}} \mathcal{F}[e^{-\frac{\sigma k^2 t}{2}}] = e^{-\frac{x^2}{4\sigma t}}$
 $\therefore g(x) = \sqrt{\frac{\sigma}{t}} e^{-\frac{\sigma x^2}{4t}}$

• FINALLY
 $T(x, t) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \frac{1}{\sqrt{\sigma t}} e^{-\frac{\sigma u^2}{4t}} \hat{f}(u) du$
 $= \frac{1}{\sqrt{4\pi\sigma t}} \int_{-\infty}^{\infty} f(u) e^{-\frac{(x-u)^2}{4t\sigma}} du$
 (AND IF $f(x)$ IS KNOWN WE CAN IN PRINCIPLE SIMPLY PLOT IT)

Question 19

The one dimensional heat equation for the temperature, $T(x, t)$, satisfies

$$\frac{\partial^2 T}{\partial x^2} = \frac{1}{\sigma} \frac{\partial T}{\partial t}, \quad t \geq 0,$$

where t is the time, x is a spatial dimension and σ is a positive constant.

The temperature $T(x, t)$ is subject to the following conditions.

i. $\lim_{x \rightarrow \infty} [T(x, t)] = 0$

ii. $T(0, t) = 1$

iii. $T(x, 0) = 0$

a) Use Laplace transforms to show that

$$\mathcal{L}[T(x, t)] = \bar{T}(x, s) = \frac{1}{s} \exp\left[-\sqrt{\frac{s}{\sigma}} x\right].$$

b) Use contour integration on the Laplace transformed temperature gradient $\frac{\partial}{\partial x}[\bar{T}(x, s)]$ to show further that

$$T(x, t) = 1 - \operatorname{erf}\left[\frac{x}{\sqrt{4\sigma t}}\right].$$

You may assume without proof that

- $\int_0^\infty e^{-ax^2} \cos kx \, dx = \sqrt{\frac{\pi}{4a}} \exp\left[-\frac{k^2}{4a}\right]$

- $\operatorname{erf}(x) = \frac{2}{\sqrt{\pi}} \int_0^x e^{-\xi^2} d\xi$

 , proof

[solution overleaf]

[illegible]

$\Rightarrow dq = 2\sqrt{c} \, d\mathcal{G}$

ADD THE UNITS

when $q=0 \rightarrow \mathcal{G}=0$

when $q=2 \rightarrow \mathcal{G} = \frac{2}{2\sqrt{c}}$

SO WE FINALLY OBTAIN

$$\Rightarrow T = 1 - \frac{1}{\sqrt{c^2}} \left(\int_0^{\frac{2}{2\sqrt{c}}} \frac{1}{c} \, d\mathcal{G} \right) > \frac{1}{\sqrt{c^2}} \, d\mathcal{G}$$

$$\Rightarrow T = 1 - \frac{2}{c^{\frac{3}{2}}} \left(\int_0^{\frac{2}{2\sqrt{c}}} \frac{1}{c} \, d\mathcal{G} \right)$$

$$\Rightarrow T = 1 - \frac{2}{c^{\frac{3}{2}}} \left(\frac{2}{2\sqrt{c}} \right) \quad \text{As BEFORE}$$

$$\left[T = \operatorname{erf}\left(\frac{2}{\sqrt{c^2}}\right) \right]$$